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13 | 18#% 918 9 |-2 i) 3.5 28. 72 13. 15 15. 57 2500 71800 fifi 8=
14 1815 -214 g M2 fi] 3.5 28. 72 13. 15 15. 57 2500 71800 i R =
15 | 1##% -215 9 | -2 ] 3.5 17. 54 8.03 9.51 2500 43850 fifi =
16 | 1##k -216 9 | -2 [] 3.5 17. 56 8. 04 9. 52 2500 43900 fifi o =
17 | 1##% -217 9 | -2 Jit] 3.5 17. 56 8. 04 9. 52 2500 42900 g =
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30 | 1##% —230 9 |2 J] 3.5 34. 63 15. 86 18. 77 2500 86575 fii =

31 181 -231 9 | -2 ] 3.5 40. 47 18.53 21.94 2500 101175 fitk =

39 | 1##% 939 o = i 3.5 36. 47 16.7 19. 77 2500 91175 i ik %

33 1#1% -101 9 | [F1] 3 86. 09 42. 56 43.53 2500 215225 fif e =

34 | 18k -102 9 | -1 ] 3 36. 97 18. 28 18. 69 2500 92425 fiti =

35 | 1#EE -103 9 |-1 ] 3 58. 09 28. 72 29. 37 2500 145225 fifi il =

36 | 18K -104 9 |[-1 I 3 31. 68 15. 66 16. 02 2500 79200 fifh il %

37 | 1sfE -105 9 | -1 ] 3 31. 68 15. 66 16. 02 2500 79200 iR =

38 | 1k -106 9 |-1 ] 3 58. 09 28. 72 29. 37 2500 145225 it E

39 | 1##% -107 9 |-1 I 3 58. 09 28. 72 29. 37 2500 145225 it =

40 | 1#BE -108 9 |-1 ji] 3 31. 68 15. 66 16. 02 2500 79200 fitil =

41 | 18#% -109 9 |[-1 ] 3 30. 62 15. 14 15. 48 2500 76550 it =

42 | 188 -110 9 |[-1 [ 3 58. 09 28. 72 29. 37 2500 145225 i E
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45 | 18KE -113 9 |-1 I 3 43. 39 21. 45 21.94 2500 108475 iR =
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105 | 3##% -213 10 | -2 I] 3.5 23. 82 9. 96 13. 86 2500 59550 itk E

106 | 38k -214 10 | -2 ] 3.5 27. 44 11. 47 15.97 2500 68600 it =

107 | 38k —215 10 | -2 Ji1] 305 16. 07 6. 72 9.35 2500 40175 fiff i =

108 | 3#k% -216 10 | -2 ] 3.5 22. 94 9. 59 13.35 2500 57350 fib i

109 | 38k 217 10 [ -2 [H] 3.5 15. 89 6. 64 9.25 2500 39725 R =

110 | 3#% -218 10 | -2 fi] 3.5 15. 89 6. 64 9.25 2500 39725 iR

111 | 3##k -219 10 | =2 Ji1] 3.5 14. 92 6. 24 8. 68 2500 37300 fifi i =

112 | 38k -220 10 | -2 [ 3.5 14. 92 6. 24 8. 68 2500 37300 =

113 | 3% -221 10 | -2 ] 3.5 14. 59 6. 1 8. 49 2500 36475 it =

114 | 38k —222 10 | -2 i) 3.5 29. 23 12592 17.01 2500 73075 fii

115 | 38k -223 10 | -2 [&] 3ts 29. 14 12. 18 16. 96 2500 72850 it =

116 | 3uk —224 10 | -2 [ 3.5 15. 89 6. 64 9.25 2500 39725 iR =

117 | 3#k% -225 10 | -2 i) 3.5 15. 89 6. 64 9.25 2500 39725 fitibl &

118 | 38k -226 10 | -2 [] 3.5 14. 92 6. 24 8. 68 2500 37300 fit =

119 | 38k -227 10 | -2 L 2.5 20. 76 8. 68 12.08 2500 51900 it =
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125 | 3##k -105 10 | -1 ] 3 83. 03 30. 16 52. 87 2500

126 | 38k -106 10/ | -1 i) 3 40. 85 14. 84 26. 01 2500 1021255
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138 | 3k -118 10 | -1 ] 3 42. 69 15. 51 27.18 2500 106725 fit i =
139 | 38k -119 10 | -1 I 3 22. 32 8.11 14. 21 2500 55800 fif =
140 | 3tk | —#yc101 | 10 | 1 | EFEHTHED 20 163. 7 24. 36 139. 34 9678 1584289 et
141 | 388k | —®E102 | 10 | 1 | ZFEHTHE 3.1 163. 7 24. 36 139. 34 9578 1567919 Ect
142 | 3% | =8y 103 | 10 | 1 | EHTHE 3.1 163. 7 24. 36 139. 34 9578 1567919 ks
143 | 38k | —H# 104 | 10 | 1 | EHTHE 3.1 163. 7 24. 36 139. 34 9578 1567919 i
144 | 38 | —#55201 | 10 | 2 | =FEHTHE 3.1 163. 7 24. 36 139. 34 9878 1469699 s
145 | 3uB | —#yE202 | 10 | 2 | =FHTHE 3.1 163. 7 24. 36 139. 34 8778 1436959 act
146 | 3#k | #5203 | 10 | 2 | =FHTHE gl 163. 7 24. 36 139. 34 8778 1436959 ik
147 | 3Bk | —HJc204 | 10 | 2 | =EFFHTHE 30 163. 7 24. 36 139. 34 8878 1453329 st
148 | 3#fE | —#%y5301 | 10 | 3 | Z=EHITHE 3. 163.7 24. 36 139. 34 9178 1502439 FE




149 | 3ak | —ee302 | 10 | 3 | EFEBWTHLE 3.1 163. 7 24. 36 139. 34 8978 w.ﬂw
150 | 3#k | —#55303| 10 | 3 | EZEMRITHE 3.1 163. 7 24. 36 139. 34 8978 E%.m@ paiy
151 | 3a | —2e304| 10 | 3 | =FHTHL 31 163. 7 24. 36 139. 34 9078 1486069 S
152 | aukE | —25c401 | 10 | 4 | ==mAAE | 3.1 | 163.7 | 2436 | 139.34 | 9278 | 151880 g B, ¢l
153 | 3uk | —mse402 | 10 | 4 | =FBHTHLE 2.1 163. 7 24. 36 139. 34 9078 1486069 rend
154 | 3akk | —eayp403 | 10 | 4 | Z=RTHE 3.1 163. 7 24. 36 139. 34 9078 1486069 Ect

155 | 3uk | —mr404| 10 | 4 | =FEWTHLE 2.1 163. 7 24. 36 139. 34 9178 1502439 i

156 | 3k | —mse501 | 10 | 5 | EWTHLE 3.1 163.7 24. 36 139. 34 9378 1535179 s

157 | 3ukk | —mm502 | 10 | 5 | ZEHTHLE L 163. 7 24. 36 139. 34 9178 1502439 ect

158 | 3u | —#e503 | 10 | 5 | EEHTHL 30 163.7 24. 36 139. 34 9178 1502439 £

159 | 3ukk | —#yps04 | 10 | 5 | ZEMTH L S0l 163.7 24. 36 139. 34 9278 1518809 {32

160 | 3uk | —moce60l [ 10 | 6 | Z=FENTHL 3.1 163. 7 24. 36 139. 34 9478 1551549 et

161 | 3u#k | —mc602 | 10 | 6 | ZEHTHLE 3.1 163.7 24. 36 139. 34 9278 1518809 e

162 | 3ukk | —#ce03 | 10 | 6 | ZFEMTHL 31 163.7 24. 36 139. 34 9278 1518809 £

163 | 3uk | —moreo4 | 10 | 6 | =FEMTHL | 163.7 24. 36 139. 34 9378 1535179 {aaest

164 | o#pk | —mE701 | 10 | 7 | EEMHTHE 3.1 163. 7 24. 36 139. 34 9578 1567919 i

165 | 3uk | —we702 | 10 | 7 | ZEHTHL 3.1 163. 7 24. 36 139. 34 9378 1535179 Eat

166 | ik | —#E703 | 10 | 7 | EEHTHE 3.3 163. 7 24. 36 139. 34 9378 1535179 Esect

167 | 3w | —#mr04| 10 | 7 | EEMTHLE 31 163. 7 24. 36 139. 34 9478 1551549 Ees

168 | 3#kk | —#:801 | 10 | 8 | ZEMTHE 5.1 163.7 24. 36 139. 34 9678 1584289 F

169 | 3a#k | —ms802 | 10 | 8 | =EHTHLE 5.1 163.7 24. 36 139. 34 9578 1567919 Eact

170 | 3#kk | —#803 | 10 | 8 | ZEMTHE 5.1 163. 7 24. 36 139. 34 9578 1567919 Ect

171 | sk | —#osg04 | 10 | 8 | ZEMTHLE B 163.7 24. 36 139. 34 9578 1567919 £

172 | 7##% -201 10 =2 Jit] 3.5 13. 68 6.5 7.18 2500 34200 it E

173 | 7HpE -202 10 | -2 i) 3.5 19. 59 9.31 10. 28 2500 48975 fifi =

174 | 7#8% -203 10 | -2 Ji] 3.5 20. 43 9.71 10. 72 2500 51075 g il =




175 | 7##% —204 10 | -2 Ji1] 3.5 22.3 10.6 k7 2500 55750 /|

176 | 7#EE -205 10 | -2 7] 3.5 27. 48 13. 06 14. 42 2500 68700 |

177 | 7#EE —206 10 | -2 JiE] 3.5 20. 1 9. 55 10. 55 0 0 X

178 | 7##% -207 10 | -2 | 3.5 25. 08 11.92 13.16 2500 62700 |

179 | 7##k -208 10 | -2 [i1] 3.5 25. 15 11.95 1822 2500 62875

180 | 7#E% ~209 10 | -2 [ 3.5 32. 55 15. 47 17.08 2500 81375

181 | 7##% -210 10 | -2 Ji] 3.5 32. 55 15. 47 17.08 2500 81375

182 | 7HEE -211 10 | -2 i) 3.5 25. 15 11.95 13.2 2500 62875 iR
183 | 7##% -212 10 | -2 JE] 3.5 25. 08 11.92 13.16 2500 62700 fifi B =
184 | 7HE% -213 10 | -2 ji] 3.5 16. 54 7.86 8. 68 2500 41350 il %
185 | 7#HEE -214 10 | -2 I 3.5 17.8 8. 46 9. 34 2500 44500 =
186 | 7#EE -101 10 | -1 [i1] a0 87 36. 41 50. 59 2500 217500 il e %
187 | 7#B% -102 10 | -1 [ 3.2 33.28 13.93 19.35 2500 83200 fifi L=
188 | 7#k -103 10 |- 1 I 3.2 33. 28 13.93 19.35 2500 83200 fifi B =
189 | 7#M% -104 10 | -1 i) 3.2 87 36. 41 50. 59 2500 217588 il il %
190 | 7##% -105 10 [ -1 ] 3.2 38.23 16 99.98 2500 95575 it 0 =
191 | 7#E% -106 10 | -1 ] 3.2 47. 52 19. 89 27.63 2500 118800 it =
192 | 7HEE -107 1oSE=1 I 8.0 91. 58 38. 33 53. 25 2500 228950 fifi el =
193 | 7##% -108 10 | -1 ] 3 74. 71 31, 27 43. 44 2500 186775 fitt i &
194 | 7HEE -109 10 | -1 [ 3.2 30. 68 12. 84 17. 84 2500 76700 fif ek =
195 | 7#EE | —H#L 101 | 10 | 1 wmﬁ F=3 3.2 226. 78 30. 26 196. 52 9708 | 2201580 FE
196 | THEE | —HC102 | 10 | 1 | AEHIT=T 3.2 226. 78 30. 26 196. 52 9608 2178902 e
197 | 7## | —H5 201 | 10 | 2 MW%HMH 3.9 226. 78 30. 26 196. 52 8908 | 2020156 Ect
198 | 7#BE | —Hn202 | 10 | 2 ._.mm@a,qmw 3.2 226. 78 30. 26 196. 52 8808 1997478 =
199 | 788 | —8JE301 | 10 | 3 | AEFHT= 3.2 226. 78 30. 26 196. 52 9108 | 2065502 s
200 | THEE | —HL302 | 10 | 3 | HEHIT= H 32 226. 78 30. 26 196. 52 9008 2042834 £
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